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4 %57>4=O GFD>< O E 55?>>= 6 ?DOF>< <7D4?, 4 D4EE>47O64? 6> 

6D5<O 746FD4>4 >4<= <7 E>5D46L<EEO 74 EF>?>< 4><4 >F4OE4. 4 

�O 7=45F5 6 =4L5< ?5EG >DG7?GN ?>?O=>G E >4<=>>>= 55D57>= 
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<7 G4M< =4 ?>?O=>G, O ED47G 74<5F<? 55?<GLN <>D4>G>G E 6<6O-

<< 7?47>4<<, GEF46<6LGNEO =4 <5=O <7-74 EF6>?4. �EF>D>6=>, 

=5 ?D<5?<64OEL, EF4? O >5E>4<FL ?> >D4N ?>?O=><, GF>5O 677?O-

=GFL =4 765DL>4. $474 G5FOD5 >5>L5? O 45D56>, => ??GF>6>4 >F-

EFG?4?4 ?> EF6>?G 6 >5D4F=GN EF>D>=G, ?>-?D56=5<G ?>>47O64O 

F>?L>> <>D4>G>G. &4> < =5 G44?>EL <=5 >5>=F< >DG7>< 55?><.
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E5=G4E 7465?< D5GL: =44> 4>7>6>D<FLEO > 7=4G5=<< E?>6.

$<E. �5?>4 =4 ?>?O=5

�4> ?>=<<4FL E?>64 «46<74FLEO 6>>DG7 ?D54<5F4»? %<OE? 
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NF E?>64 >4<=4>>6>.
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>  G5< G7>4=>. '<5EF=> F>?L>> E?D>E<FL, GF> 5>?55 E>7?4E=> 

E >5M5?D<=OFO< ?>=<<4=<5<. / E>474? 5O, GF> ?GGL5 6O65FEO 

E 4GE>< O7O>4 ?5D6>5 ?>=<<4=<5, < 6>F ?>G5<G. %>?=F5, >4> <7-

65EF=>, 45?45F ?>?=O= >5>D>F 6>>DG7 E6>5= >E< 6 26 EGF>>&

4 %>?=F5 65DF<FEO?

4 �>=5G=>, >4> < �5<?O, 6>>DG7 >E<. �>>5D47<F5, >4=4>>, GF> 

6D4M5=<5 %>?=F4 E>65DL45FEO <54?5==55, 4 <<5==> GF> >=> 45-

?45F >4<= >5>D>F =5 6 26 EGF>>, 4 6 365 EGF>>, F> 5EFL 6 7>4. &>744 

%>?=F5 5O?> 5O >5D4M5=> > �5<?5 6E5744 >4=>= < F>= 65 E6>5= 

EF>D>=>=; ?D>F<6>?>?>6=>= ?>?>6<=O, «E?<=O» %>?=F4, <O 

=<>>744 =5 6<45?< 5O. �> D4765 EF4? 5O >F>-=<5G4L GF65D644FL 

<7-74 MF>7>, GF> �5<?O =5 >DG6<FEO >>>?> %>?=F4?

4 �4, F5?5DL OE=>, GF> O 6E5-F4>< >DG6<?EO >>>?> 55?><.

4 �EFL ?D54?>65=<5, F>64D<M<! �5 D4EE>4<FLEO,  4 E>474? 

>4<= <7 E?GL46L<E E?>D.  4 &4> >4> 6  4>64L 7G?OFL =<>F> =5 

?>=45F, 4 ?5D5EF4=5F 4>64<>, 6<4=>, =5 E>>D>, F> 4464=F5 ?D>-

6545< 745EL 6D5<O 74 7>?>6>?><>4<<. �4G4?> E45?4=>. �GEFL 

>464O= ?> >G5D54< ?D<4G<45F <?< ?D<?><=<F >4>GN-=<5G4L 

7>?>6>?><>G. �O 65, ?D>D5EE>D, O6<F5EL =4L<< 65DE>6=O< 

EG4L5=.

4 �E?< 7>?>6>?><>< 5G4GF E  4?755D>= <?< E  75><5FD<5=, F> 

O 4>?6=4 >F>474FLEO, 4 74O6<?4 <>?>44O 65=M<=4.
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EF6GNM<E =5 ?D<6?5>4FL =< 4?755DO, =< 75><5FD<<, D4765 F>?L-

>> E4<O5 =4G4F><. �>7D465=<= =5 <<55FEO?

4 &>744 O E>7?4E=4 < 7>F>64 ?5D64O ?D54?>6<FL 7>?>6>?><>G.

4 �D5>D4E=>, ?D>E<<! 4 4>=5E?>EL E D47=OE EF>D>=. 4 �4G<-

=4=F5.

2. � ����'���,��� �'%��
4 �>?>6>?><>4 <>O 74D>4<?4EL 6  >5EF4=>6>5 >><<G=4?L=>= 

>64DF<DO. �444G4, F4> E>474FL, 5OF>64O. �<?<F4 4 =47>6G 55 4?O 

G4>5EF64 &D>=><=>= 4 ?>?>6<?4 6 >5MGN ??<FG 3 ?>?5=4 E6><E 

4D>6, 6<?<F4 �OF5D><=4 4 5 ?>?5=L56. �<?5F �5EF>??<6=O=, 

G >>F>D>7>, >4> 6O 4>744O645F5EL, =5 5O?> E6><E 4D>6, ?>?GG<? 

>F >55<E 7D4644=>> D47D5L5=<5 E64D<FL >554 =4 >5M5< >7=5. 
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4>?6=O >=< ?>45?<FL <564G E>5>= MFG ??4FG?

4 �>?>?4<,  4 ?>E?5L<? 74O6<FL >F>-F>.  4 �5EF>??<6=O= 

?>?L7>64?EO <E >7=5< 6 D46=>= <5D5.

4 �G =5F, 4 6>7D47<? 4DG7>=, 4 =44> ?D<=OFL 6 E>>5D465=<5, 

>4> GG4EF6>64?< 6 MF>< >7=5 4D>6O=O5 6?>65=<O 7D4644=>>. �F> 

44? 3 ?>?5=4, 4>?65= ?>?GG<FL 30 >>?55>; >F> 44? 5 ?>?5=L56, ?>-

?GG45F 50 >>?55>. �>F MF> 5G45F E?D4654?<6O= 45?56.
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4 &>64D<M<,  4 67O? E?>6> F>F, >F> 74F5O? <7DG <  EG<F4?-

EO F5?5DL ?D54E544F5?5< E>5D4=<O.  4 �>>=G4F5?L=O5 D5L5-

=<O 7>?>6>?><>> 4464=F5 ?>>4 =5 >5NO6?OFL. �GEFL >464O= 

5M5 ?>4G<45F =44 =<<<. �D46<?L=O5 >F65FO EG4LO >7?4E<F 

=4< 74  G6<=><. &5?5DL E?54GNM<=. �G5D54L 74 64<<, F>64-

D<M ?<>=5D!
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4 � =4L5= L>>?5, 4 =4G4? ?<>=5D, 4 <<55FEO 5 >DG6>>6: ?>-

?<F>DG6>>, 6>5==O=, D>F>7D4D<G5E><=, L4E<4F=O= < E>D>6>=. 

�>?<F>DG6>> 74=<<45FEO G5D57 45=L, 6>5==O= 4 G5D57 2 4=O =4 

3-=; D>F>7D4D<G5E><= 4 >464O= 4-= 45=L, L4E<4F=O= 4 >46-

4O= 5-= 45=L <  E>D>6>=  4 >464O= 6-= 45=L. �5D6>7> O=64DO 

E>5D4?<EL 6 L>>?5 6E5 5 >DG6>>6, 4 74F5< 74=OF<O 65?<EL 6 =4-
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E>EF><F 6  F><, E>>?L>> 6  ?5D6>< >64DF4?5 5O?> 5M5 65G5D>6, 

>>744 E>5<D4?<EL 6 L>>?5 6E5 5 >DG6>>6.

4 � 7>4 5O? ?D>EF>= <?< 6<E>>>E=O=? 4 >E654><<?<EL G ?<>-

=5D4.

4 �D>EF>=.

4 �=4G<F, ?5D6O= >64DF4?,  4 O=64DL, D56D4?L, <4DF,  4 =44> 

EG<F4FL 74 90 4=5=?

4 �G56<4=>.

4 �>76>?LF5 > 6>?D>EG 64L5= 7>?>6>?><>< ?D<E>54<=<FL 5M5 

>4<=, 4 E>474? ?D>D5EE>D. 4 � <<5==> E>>?L>> 6 F>< 65 >64DF4-

?5 7>44 5O?> F4><E 65G5D>6, >>744 >DG6>>6OE 74=OF<= 6 L>>?5 

6>6E5 =5 ?D><EE>4<?>?

4 �74, ?>=<<4N! 4 D4744?EO 6>77?4E. 4 �444G4 E ?>46>E><. �< 

>4=>7> 4=O =5 5G45F 5>?LL5 E 5 >DG6>4<< < =< >4=>7> 4=O 557 

6EO><E >DG6>>6. -F> G65 OE=>!

4 �>G5<G? 4 E?D>E<? ?D54E544F5?L.

4 �5NOE=<FL =5 <>7G, => GG6EF6GN, GF> >F744G<>4 E>FOF ?>=-

<4FL 6D4E??>E.

4 �G, MF> =5 4>6>4. �5G5D>< 6OOE=<FEO, ?D46<?L=> ?< 64L5 

?D54GG6EF6<5. �4 64<< >G5D54L, F>64D<M!

4. �&� ���,,�?
4 �6>5 EG<F4?< 6 F5G5=<5 G4E4 6E5E, >F> ?D>E>4<? <<<> =<E 

?> FD>FG4DG. �4<= EF>O? G  6>D>F 4><4, 4DG7>= ?D>E46<64?EO 

6744 < 6?5D54 ?> FD>FG4DG. �F> =4EG<F4? 5>?LL5 ?D>E>6<E?

4 �4O, 5>?LL5 =4EG<F45LL, OE=>5 45?>, 4 4>=5E?>EL E 4DG7>7> 

>>=F4 EF>?4.

4 �F65F G7=45< 74 G6<=><, 4 >5NO6<? ?D54E544F5?L. 4 %?5-

4GNM<=!

5. ��� � ��'�
4 &>, > G5< O E>46G, ?D><EE>4<?> 6 1932 7>4G. �=5 5O?> F>744 

D>6=> EF>?L>> ?5F, E>>?L>> 6OD464NF ?>E?54=<5 465 F<DDO 7>44 

<>57> D>645=<O. �>744 O >5 MF>< E>>F=>L5=<< D4EE>474? 454G, 

>= G4<6<? <5=O 74O6?5=<5<, GF> E 57> 6>7D4EF>< 6OE>4<F F> 65 

E4<>5. �=5 MF> ?>>474?>EL =56>7<>6=O<&
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4 $47G<55FEO, =56>7<>6=>, 4 6EF46<? G5=-F> 7>?>E.

4 �D54EF46LF5, 6?>?=5 6>7<>6=>! �54 4>>474? <=5 MF>. %>>?L-

>> 65 5O?> ?5F >464><G <7 =4E?

$<E. �54 < 6=G>
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4 / 4 65?57=>4>D>6=4O >4EE<DL4, ?D>44N 5<?5FO, 4 =4G4?4 

E?54GNM4O GG4EF=<F4 <7DO. 4 �=>7<< MF> >465FEO >G5=L ?D>-

EFO< 45?><. �5 ?>4>7D564NF, E >4><< 5>?LL<< G<E?>< 5<?5F>6 

?D<E>4<FEO <<5FL 45?> >4EE<DG 4465 <4?5=L>>= EF4=F<<. �54L 

=5>5E>4<<>, GF>5O ?4EE46<DO <>7?< ?>?GG<FL 5<?5FO >F 44=-

=>= EF4=F<< 4> ?N5>= 4DG7>= =4 F>= 65 4>D>75, ?D<F>< 6 >5><E 

=4?D46?5=<OE. / E?G6G =4 4>D>75 E 25 EF4=F<O<<. %>>?L>> 65 

D47?<G=OE >5D47F>6 5<?5F>6 747>F>6?5=> 65?57=>= 4>D>7>= 4?O 

6E5E 55 >4EE?
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500 ><?><5FD>6. �4F5< >= ?>65D=G? =4 74?44 <, ?D>?5F56 500 ><-

?><5FD>6, >?GEF<?EO =4 75<?N. %?D4L<645FEO: 745 D4E?>?>65=> 

<5EF> E?GE>4 4<D<645?O >F=>E<F5?L=> �5=<=7D444 4 > 74?44G, 

> 6>EF>>G, > E565DG <?< > N7G?

$<E. �>?5F 4<D<645?O

4 �4 ?D>EF4>4 D4EEG<FO645F5, 4 E>474? >F>-F>, 4 500 L47>6 

6?5D54, 500 6?D46>, 500 =4744 44 500 6?56>, >G44 ?D<45<? �F>G44 

6OL?<, FG44 < ?D<45<!

4 �F4>, 745, ?>-64L5<G, E?GEF<?EO 4<D<645?L?

4 �4 F>< 65 ?5=<=7D44E>>< 4MD>4D><5, >F>G44 ?>4=O?EO. �5 

F4> D4765?

4 �<5==> =5 F4>.

4 � F4>>< E?GG45 O =<G57> =5 ?>=<<4N!

4 � E4<>< 45?5, 745EL GF>-F> =5?44=>, 4 6EFG?<? 6 D477>6>D 

E>E54. 4 $4765 4<D<645?L E?GEF<?EO =5 6 �5=<=7D445? �5?L7O 

?< ?>6F>D<FL 7444GG?

�5FG<> >E>F=> <E?>?=<? ?D>EL5G. �7> 6=<<4F5?L=> 6OE?GL4-

?< < E =54>G<5=<5< ?5D57?O=G?<EL.

4 �44=>, 4 >5NO6<? ?D54E544F5?L. 4 �> G6<=4 GE?55< ?>4G-

<4FL >5 MF>= 7444G5, 4 E5=G4E 5G45< ?D>4>?64FL.

8. &��,
4 �>76>?LF5 <=5, 4 E>474? >G5D54=>= 74744G<>, 4 67OFL EN-

65F>< 7>?>6>?><>< F>F 65 4<D<645?L. 'F> 4?<==55: 4<D<645?L 

<?< 57> ?>?=4O F5=L?
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$<E. &5=L

4 � MF>< < 6EO 7>?>6>?><>4?

4 �EO.

4 &5=L, >>=5G=>, 4?<==55 4<D<645?O: 654L ?GG< E>?=F4 D4E-

E>4OFEO 655D><, 4 ?>E?54>64?> ED47G D5L5=<5.

4 / 5O E>474?, 4 6>7D47<? >F>-F>, 4 GF>, =4?D>F<6, ?GG< E>?=-

F4 ?4D4??5?L=O; F5=L < 4<D<645?L >4=>= 4?<=O.

4 'F> 6O? $4765 =5 E?GG4?>EL 64< 6<45FL D4EE>4OM<5EO ?GG< 

>F E?DOF46L57>EO 74 >5?4>>< E>?=F4? &>744 <>6=> 6>>G<N G55-

4<FLEO, >4> E<?L=> D4EE>4OFEO E>?=5G=O5 ?GG<. &5=L 4<D<645?O 

4>?6=4 5OFL 7=4G<F5?L=> 5>?LL5 E4<>7> 4<D<645?O, >4> F5=L 

>5?4>4 5>?LL5 E4<>7> >5?4>4.

4 �>G5<G 65 >5OG=> ?D<=<<4NF, GF> ?GG< E>?=F4 ?4D4??5?L-

=O? �>DO><, 4EFD>=><O  4 6E5 F4> EG<F4NF& �D54E544F5?L =5 

44? E?>DG D477>D5FLEO < ?D54>EF46<? E?>6> E?54GNM5<G 74744-

G<>G.

9. ����'� %� %��'����
�G5D54=>= >D4F>D 6OEO?4? =4 EF>? 6E5 E?<G>< <7 >>D>5>4 

< EF4? D4E?D545?OFL <E 6 FD< >GG><.

4 �>EF5D E>5<D45F5EL D4E>?44O64FL? 4 LGF<?< E?GL4F5?<.
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$<E. �444G4 E> E?<G>4<<

4 �>?>6>?><>4,  4 >5NOE=<? 74744G<>,  4 5G45F E> E?<G>4<<. 

�>F <E FD< =5D46=O5 >GG><. �> 6E5E 6<5EF5 48 LFG>. %>>?L>> 

6 >464>=, O 64< =5 E>>5M4N. �4F> >F<5FLF5 E?54GNM55: 5E?< <7 

?5D6>= >GG>< O  ?5D5?>6G 6> 6F>DGN EF>?L>> E?<G5>, E>>?L>> 

6 MF>= 6F>D>= >GG>5 <<5?>EL; 74F5< <7 6F>D>= 6 FD5FLN ?5D5?>6G 

EF>?L>>, E>>?L>> 6 MF>= FD5FL5= ?5D54 F5< 5G45F =4E>4<FLEO; <, 

=4>>=5F, <7 FD5FL5= ?5D5?>6G 6 ?5D6GN EF>?L>> E?<G5>, E>>?L-

>> 6 MF>= ?5D6>= >GG>5 5G45F F>744 <<5FLEO, 4 5E?<, 7>6>DN, 6E5 

MF> ?D>45?4FL, F> G<E?> E?<G5> 6> 6E5E >GG>4E EF4=5F >4<=4>>6>. 

%>>?L>> 65 5O?> 6 >464>= >GG>5 ?5D6>=4G4?L=>?

10. ����$�/� ���,
4 �>?>6>?><>4 MF4,  4 =4G4? E>E54 ?>E?54=57> 74744G<>4,  4 

=4?><<=45F 7444GG, >>F>DGN 446=> >4>-F> 7444? <=5 45D565=-

E><= <4F5<4F<>. -F> 5O? F5?O= D4EE>47, 4>6>?L=> 74546=O=. 

�>6EFD5G4? >D5EFLO=<= 6 ?5EG =57=4>><>7> EF4D<>4. $477>6>D<-

?<EL. %F4D<> 6=<<4F5?L=> >7?O45? >D5EFLO=<=4 < E>474?:

4 �765EF5= <=5 6  ?5E>G MF>< ?5=5G5> >4<= G4<6<F5?L=O=. 

�G5=L 6 =G645 ?><>745F.

4 �4> ?><>745F? �O?5G<645F?

4 �5G<FL =5 ?5G<F, 4  45=L7< G464<645F. �>?>6<LL ?>4 =57> 

>>L5?L E 45=L74<<, 4>EG<F45LL 4> EF4 4 < 7>F>6>: 45=L7<, >4><5 

5O?< 6 >>L5?L>5, G46><?<EL. &4>>5 E6>=EF6> <<55F. �4<5G4F5?L-

=O= ?5=L!

4 �>F 5O <=5 <E?D>5>64FL, 4 <5GF4F5?L=> E>474? >D5EFLO=<=.

4 -F> <>6=>. �FG57> 65? �4??4F<FL F>?L>> =44>.

4 �><G ??4F<FL? � <=>7> ?<?

4 &><G ??4F<FL, >F> 4>D>7G G>465F. �=5, 7=4G<F. � <=>7> ?<, 

> F>< >E>5O= D477>6>D.



| �
�

�
&

$
�

�
 %

 �
�

�
�

�
�

�
�

�
�

�
�

�

13 |

%F4?< F>D7>64FLEO. '7=46, GF> G >D5EFLO=<=4 6 >>L5?L>5 45=57 

<4?>, EF4D<> E>7?4E<?EO ?>?GG<FL ?>E?5 >464>7> G46>5=<O ?> 

1 DG5. 20  >>?. �4 F>< <  ?>D5L<?<. %F4D<> ?>65? >D5EFLO=<=4 

6 7?G5L ?5E4, 4>?7> 5D>4<? E =<< < =4>>=5F D47OE>4? 6 >GEF4E 

EF4DO=, ?>>DOFO= <E>< 5?>6O= ?5=L. �7O6 <7 DG> >D5EFLO=<=4 

>>L5?5>, >= 74EG=G? 57> <564G >>D=O<< ?=O. �>EG<F4?< 4> EF4. 

%F4D<> E=>64 EF4? L4D<FL < 6>7<FLEO G >E=>64=<O ?=O, =4>>=5F 

<76?5> >FFG44 >>L5?5> < ?>44? >D5EFLO=<=G.

�47?O=G? >D5EFLO=<= 6  >>L5?5>, <  GF> 65? �5=L7< 6  E4<>< 

45?5 G46><?<EL! �FEG<F4? <7 =<E EF4D<>G >55M4==O5 1 DG5. 

20  >>?. <  ?>?D>E<? 74EG=GFL >>L5?5> 6F>D<G=> ?>4 GG4>45=-

EF65==O= ?5=L.

%=>64 4>EG<F4?< 4> EF4, E=>64 EF4D<> EF4? 6>7<FLEO 6 >GEF4E 

G ?=O, < E=>64 E>65DL<?>EL 4<6>: 45=L7< 6 >>L5?L>5 G46><?<EL. 

%F4D<> 6F>D<G=> ?>?GG<? <7 >>L5?L>4 >5GE?>6?5==O5 1 DG5. 

20 >>?.

� FD5F<= D47 E?DOF4?< >>L5?L ?>4 ?5=L. �5=L7< G46><?<EL 

< =4 MF>F D47. �> >>744 >D5EFLO=<= G??4F<? EF4D<>G >55M4==>5 

6>7=47D4645=<5, 6  >>L5?L>5 =5 >EF4?>EL 5>?LL5 =< >4=>= >>-

?5=><.

�54=O74 ?>F5DO? =4 MF>= >><5<=4F<< 6E5 E6>< 45=L7<. '464<-

64FL 5>?LL5 5O?> G65 =5G57>, <  >D5EFLO=<= G=O?> ?>5D5? <7 

?5EG.

%5>D5F 6>?L55=>7> G46>5=<O 45=57 64<, >>=5G=>, OE5= 4 EF4-

D<> =544D><, >FOE><64O >>L5?5>, <5L>4? 6 74D>E?OE G ?=O. �> 

<>65F5 ?< 6O >F65F<FL =4 4DG7>= 6>?D>E: E>>?L>> 5O?> G >D5EFL-

O=<=4 45=57 4> 7?>?>?GG=OE >?OF>6 E >>64D=O< ?=5<?

11. ����'� � �����$�
4 /, F>64D<M<, O7O>>654, >F 6EO>>= <4F5<4F<>< 44?5>,  4 

=4G4? ?>6<?>= G5?>65>, >>F>D><G ?D<L5? G5D54 744464FL 7>?>-

6>?><>G. 4 �5 64<F5 >F <5=O ?>MF><G <4F5<4F<G5E>>= 7444G<. 

�>7G F>?L>> ?D54?>6<FL 6>?D>E <7 7=4>><>= <=5 >5?4EF<. $47-

D5L<F5 7444FL >4?5=44D=GN 7>?>6>?><>G?

4 �D>E<<!

4 �65=44F4FO= <5EOF =47O645FEO G =4E «45>45DL». � 6O 7=45-

F5, GF>, E>5EF65==>, 7=4G<F «45>45DL»? %?>6> MF> ?D><EE>4<F >F 

7D5G5E>>7> E?>64 «45>4»  4 45EOFL, >FEN44 F4>65 E?>64 «45>4-



| �
�

�
�

/
 �

�
&

�
�

�
&

�
�

�

| 14

?<FD» 4 45EOFL ?<FD>6, «45>444» 4 45EOFL 4=5= < F. 4. �OE>4<F, 

GF> <5EOF 45>45DL =>E<F =4764=<5 «45EOFO=». '5< >5NOE=<FL 

F4>>5 =5E>>F65FEF6<5?

4 �G, F5?5DL >EF4?4EL F>?L>> >4=4 7>?>6>?><>4, 4 ?D><7=5E 

?D54E544F5?L.

12. �$�$��&�'�%��� $��'%
4 �=5 ?D<E>4<FEO 6OEFG?4FL ?>E?54=<<, 465=44F4FO<. �?O 

D47=>>5D47<O ?>>46G 64< 4D<D<5F<G5E><= D>>GE <  ?>?D>-

LG D4E>DOFL 57> E5>D5F. �GEFL >F>-=<5G4L, E>FO 5O 6O, F>64-

D<M ?D54E544F5?L, =4?<L5F, F4==> >F <5=O, ?N5>5 FD5E7=4G=>5 

G<E?>.

4 �>7GF 5OFL < =G?< 6 MF>< G<E?5?

4 �5 EF46?N =<>4><E >7D4=<G5=<=. �N5>5 FD5E7=4G=>5 

G<E?>, >4>>5 ?>65?45F5.

4 �4?<E4?. 'F> F5?5DL?

4 �D<?<L<F5 > =5<G MF> 65 G<E?> 5M5 D47. ' 64E ?>?GG<FEO, 

>>=5G=>, L5EF<7=4G=>5 G<E?>.

4 �EFL. ,5EF<7=4G=>5 G<E?>.

4 �5D544=F5 5G<46>G E>E54G, GF> E<4<F ?>44?LL5 >F <5=O. 

� >= ?GEFL D4745?<F MF> L5EF<7=4G=>5 G<E?> =4 7.

4 �57>> E>474FL: D4745?<FL =4 E5<L! �>65F, < =5 D4745?<FEO.

4 �5 55E?>>>=F5EL, ?>45?<FEO 557 >EF4F>4.

4 '<E?4 =5 7=45F5, 4 G65D5=O, GF> ?>45?<FEO.

4 %=4G4?4 D4745?<F5, ?>F>< 5G45< 7>6>D<FL.

4 �4 64L5 EG4EFL5 4 D4745?<?>EL.

4 $57G?LF4F 6DGG<F5 E6>5<G E>E54G, =5 E>>5M4O <=5. �= D47-

45?<F 57> =4 11.

4 �G<45F5, >?OFL ?>6575F 4 D4745?<FEO?

4 �5?<F5, >EF4F>4 =5 ?>?GG<FEO.

4 � E4<>< 45?5, 557 >EF4F>4! &5?5DL GF>?

4 �5D544=F5 D57G?LF4F 44?LL5. $4745?<< 57>& =G, E>465<, 

=4 13.

4 �5E>D>L> 6O5D4?<. �57 >EF4F>4 =4 13 <4?> G<E5? 45?<FEO& 

4= =5F, D4745?<?>EL =4F5?>. �575F 65 64<!

4 �4=F5 <=5 5G<46>G E D57G?LF4F><; F>?L>> E?>6<F5 55, GF>5O 

O =5 6<45? G<E?4.
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�5 D4765DFO64O ?<EF>4 5G<47<, «D>>GE=<>» 6DGG<? 57> ?D54-

E544F5?N.

4 �76>?LF5 ?>?GG<FL 744G<4==>5 64<< G<E?>. �D46<?L=>?

4 %>65DL5==> 65D=>! 4 E G4<6?5=<5< >F65F<? F>F, 677?O=G6 

=4 5G<46>G. 4 �<5==> MF> O < 744G<4?& � F5?5DL, F4> >4> E?<-

E>> >D4F>D>6 <EG5D?4=, ?>76>?LF5 74>DOFL =4L5 E>5D4=<5, 5?47> 

< 4>64L GE?5? ?D>=F<. $47744>< 6E5E 7>?>6>?><>> 5G4GF >7?4-

L5=O E57>4=O 65, ?>E?5 G6<=4. �4?<E>< E  D5L5=<O<< <>65F5 

?>4464FL <=5.



| 16

$� � � / � � �  �� � & $� � �

—

$�,���/ 
����������� 1312

1. �>?>6>?><>4 E 55?>>= =4 ?>?O=5 D4EE<>FD5=4 5O?4 ?>?=>-

EFLN D4=LL5. �5D5E>4<< > E?54GNM5=.

2. �5?L7O EG<F4FL, >4> <=>7<5 45?4NF, GF> 80 >>?. G??4G5=> 74 

8 ?>?5=L56, ?> 7D<65==<>G 74 ?>?5=>. �5=L7< MF< G??4G5=O F>?L-

>> 74 FD5FLN G4EFL >F 8 ?>?5=L56, ?>F><G GF> >7=5< ?>?L7>64?<EL 

FD>5 6 >4<=4>>6>= <5D5. �FEN44 E?54G5F, GF> 6E5 8 ?>?5=L56 >F5-

=5=O 5O?< 6 80 × 3, F. 5. 6 2 DG5. 40 >>?., < F5=4 >4=>7> ?>?5=4 4 

30 >>?.

&5?5DL ?57>> E>>5D47<FL, E>>?L>> ?D<G<F45FEO >464><G. �O-

F5D><=>= 74 55 5 ?>?5=L56 E?54G5F 150 >>?.; => >=4 E4<4 6>E?>?L-

7>64?4EL ??<F>= =4 80 >>?.; 7=4G<F, 5= >EF45FEO 4>?>?GG<FL 5M5 

150  3 80, F.  5. 70  >>?. &D>=><=4 74 3 E6><E ?>?5=4 4>?6=4 ?>-

?GG<FL 90 >>?.; 4 5E?< 6OG5EFL 80 >>?., ?D<G<F4NM<5EO E =55 74 

?>?L7>64=<5 ??<F>=, F> E?54>64FL 5= 5G45F 6E57> F>?L>> 90 3 80, 

F. 5. 10 >>?.

�F4>, ?D< ?D46<?L=>< 45?565 �OF5D><=4 4>?6=4 ?>?GG<FL 

70 >>?., &D>=><=4 4 10 >>?.

3. �4 ?5D6O= 6>?D>E 4 G5D57 E>>?L>> 4=5= 6 L>>?5 E>55DGF-

EO >4=>6D5<5==> 6E5 5 >DG6>>6 4 <O ?57>> >F65F<<, 5E?< EG<55< 

D47OE>4FL =4<<5=LL55 <7 6E5E G<E5?, >>F>D>5 45?<FEO 557 >EF4F-

>4 =4 2, =4 3, =4 4, =4 5 < =4 6. �5FDG4=> E>>5D47<FL, GF> G<E?> 

MF> 60. �=4G<F, =4 61-= 45=L E>55D5FEO E=>64 5 >DG6>>6: ?>?<F<G5-

E><= 4 G5D57 30 46GE4=56=OE ?D><56GF>>6, 6>5==O= 4 G5D57 20 

FD5E4=56=OE, D>F>>DG6>> 4 G5D57 15 G5FOD5E4=56=OE, L4E<4F-

=O= 4 G5D57 12 ?OF<4=56>> < E>D>6>= 4 G5D57 10 L5EF<4=56>>. 

$4=LL5, G5< G5D57 60 4=5=, F4>>7> 65G5D4 =5 5G45F. %?54GNM<= 

?>4>5=O= 65 65G5D 5G45F 5M5 G5D57 60 4=5=, F. 5. G65 6> 6F>D>< 

>64DF4?5.

�F4>, 6 F5G5=<5 ?5D6>7> >64DF4?4 >>465FEO F>?L>> >4<= 65G5D, 

>>744 6 >?G55 E=>64 E>55DGFEO 4?O 74=OF<= 6E5 5 >DG6>>6.
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&DG4=55 =4=F< >F65F =4 6F>D>= 6>?D>E 7444G<: E>>?L>> 5G45F 

65G5D>6, E6>5>4=OE >F >DG6>>6OE 74=OF<=? 'F>5O D47OE>4FL 

F4><5 4=<, =44> 6O?<E4FL ?> ?>DO4>G 6E5 G<E?4 >F 1 4> 90 < 74-

G5D>=GFL 6 MF>< DO4G 4=< D45>FO ?>?<F>DG6>4, F. 5. G<E?4 1, 3, 5, 

7, 9 < F. 4. �>F>< 74G5D>=GFL 4=< D45>FO 6>5==>7> >DG6>4: 4-=, 

10-= < F. 4. �>E?5 F>7> >4> 74G5D>=5< 74F5< 4=< 74=OF<= D>F>-

>DG6>4, L4E<4F=>7> < E>D>6>7>, G =4E >EF4=GFEO =574G5D>=GFO-

<< F5 4=< ?5D6>7> >64DF4?4, >>744 =< >4<= >DG6>> =5 D45>F4?.

�F> ?D>45?45F MFG D45>FG, F>F G554<FEO, GF> 65G5D>6, E6>5>4-

=OE >F 74=OF<=, 6  F5G5=<5 ?5D6>7> >64DF4?4 5G45F 4>6>?L=> 

<=>7>: 24. � O=64D5 <E 8, 4 <<5==> 2, 8, 12 ,14, 18, 20, 24 < 30-7>. 

� D56D4?5 =4EG<FO645FEO 7 F4><E 4=5=, 6 <4DF5 4 9.

4. �54 =4EG<F4?< >4<=4>>6>5 G<E?> ?D>E>6<E. %>FO F>F, >F> 

EF>O? G 6>D>F, EG<F4? ?D>E>4<6L<E 6 >55 EF>D>=O, 74F> F>F, >F> 

E>4<?, 6<45? 646>5 5>?LL5 6EFD5G=OE ?N45=.

5. % ?5D6>7> 677?O44 <>65F 45=EF6<F5?L=> ?>>474FLEO, GF> 74-

44G4 =5?D46<?L=> E>EF46?5=4: 6OE>4<F >4> 5G4F>, GF> 6=G> < 454 

>4=>7> 6>7D4EF4. �4=4>> FD55>64=<5 7444G<, >4> E5=G4E G6<4<<, 

?57>> G4>6?5F6>DO5FEO.

�=G>, >G56<4=>, D>4<?EO 6 XX EF>?5F<<. �5D6O5 465 F<DDO 

7>44 57> D>645=<O, E?54>64F5?L=>, 19: F4>>6> G<E?> E>F5=. '<E?>, 

6OD4645<>5 >EF4?L=O<< F<DD4<<, 5G4GG< E?>65=> E  E4<<< 

$<E. $5L5=<O 7>?>6>?><>>
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E>5>N, 4>?6=> E>EF46<FL 32. �=4G<F, MF> G<E?> 16: 7>4 D>645=<O 

6=G>4 1916-=, < 5<G 6 1932 7. 5O?> 16 ?5F.

�54 57> D>4<?EO, >>=5G=>, 6 XIX EF>?5F<<: ?5D6O5 465 F<DDO 

7>44 57> D>645=<O 18. '46>5==>5 G<E?>, 6OD4645<>5 >EF4?L-

=O<< F<DD4<<, 4>?6=> E>EF46<FL 132. �=4G<F, E4<> MF> G<E?> 

D46=> ?>?>6<=5 >F 132, F. 5. 66. �54 D>4<?EO 6 1866 7., < 5<G F5-

?5DL 66 ?5F.

&4><< >5D47><, < 6=G>G, < 454G 6 1932 7. EF>?L>> ?5F, E>>?L>> 

6OD464NF ?>E?54=<5 464 G<E?4 7>4>6 <E D>645=<O.

6. �4 >464>= <7 25 EF4=F<= ?4EE46<DO <>7GF FD55>64FL 5<?5F 

4> ?N5>= EF4=F<<, F.  5. =4 24 ?G=>F4. �=4G<F, D47=OE 5<?5F>6 

=44> =4?5G4F4FL 25 × 24 = 600 >5D47F>6.

7. �444G4 MF4 =<>4>>7> ?D>F<6>D5G<O =5 E>45D6<F. �5 E?54G5F 

4G<4FL, GF> 4<D<645?L ?5F5? ?> >>=FGDG >644D4F4: =44> ?D<=OFL 

6  D4EG5F L4D>>5D47=GN D>D<G �5<?<. �5?> 6  F><, GF> <5D<-

4<4=O > E565DG E5?<64NFEO (E<. D<E.); ?>MF><G, ?D>=4O 500 >< 

?> ?4D4??5?L=><G >DG7G, D4E?>?>65==><G =4 500  >< E565D=55 

L<D>FO �5=<=7D444, 4<D<645?L >F>L5? >  6>EF>>G =4 5>?LL55 

G<E?> 7D44GE>6, G5< ?D>?5F5? ?>F>< 6  >5D4F=>< =4?D46?5=<<, 

>GGF<6L<EL E=>64 =4 L<D>F5 �5=<=7D444. �  D57G?LF4F5 4<D<-

645?L, 74>>=G<6 ?>?5F, >>474?EO 6>EF>G=55 �5=<=7D444.

$<E. $5L5=<O_7
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�4 E>>?L>> <<5==>? -F> <>6=> D4EEG<F4FL. �4 D<EG=>5 

6O 6<4<F5 <4DLDGF 4<D<645?O: ABCDE. &>G>4 N 4 E565D=O= 

?>?NE; 6 MF>= F>G>5 EE>4OFEO <5D<4<4=O �� < DC. �<D<645?L 

?D>?5F5? E=4G4?4 500 >< =4 E565D, F. 5. ?> <5D<4<4=G AN. &4> 

>4> 4?<=4 7D44GE4 <5D<4<4=4 111  ><, F> 4G74 <5D<4<4=4 6 

500 >< E>45D6<F 500 : 111 = 4,5°. �5=<=7D44 ?56<F =4 60-= ?4-

D4??5?<; 7=4G<F, F>G>4 � =4E>4<FEO =4 60° + 4,5° = 64,5°. �4F5< 

4<D<645?L ?5F5? > 6>EF>>G, F. 5. ?> ?4D4??5?< �%, < ?D>L5? ?> 

=5= 500 ><.

�?<=G >4=>7> 7D44GE4 =4 MF>= ?4D4??5?< <>6=> 6OG<E-

?<FL (<?< G7=4FL <7 F45?<F); >=4 D46=4 48  ><. �FEN44 ?57>> 

>?D545?<FL, E>>?L>> 7D44GE>6 ?D>?5F5? 4<D<645?L =4 6>EF>>: 

500 : 48 = 10,4°. �4?55 6>74GL=O= >>D45?L ?5F5? 6 N6=>< =4-

?D46?5=<<, F.  5. ?> <5D<4<4=G CD, <, ?D>=4O 500  ><, 4>?65= 

5O? >GGF<FLEO E=>64 =4 ?4D4??5?< �5=<=7D444. &5?5DL ?GFL 

?56<F =4 74?44, F. 5. ?> DA; 500 >< MF>7> ?GF< O6=> >>D>G5 D4E-

EF>O=<O AD. �  D4EEF>O=<< AD 74>?NG45FEO EF>?L>> 65 7D4-

4GE>6, E>>?L>> <  6 �%, F.  5. 10,4°. �> 4?<=4 1° =4 L<D>F5 60° 

D46=4 55,5 ><. %?54>64F5?L=>, <564G � < D D4EEF>O=<5 D46=> 

55,5 × 10,4 = 577,2 ><. �O 6<4<<, GF> 4<D<645?L =5 <>7 E?G-

EF<FLEO 6 �5=<=7D445; >= =5 4>?5F5? 4> =57> 77  ><, F.  5. E?G-

EF<?EO =4 �44>6E>>< >75D5.

8. �5E54>646L<5 >5 MF>= 7444G5 4>?GEF<?< DO4 >L<5>>. �5-

65D=>, GF> ?GG< E>?=F4, ?444NM<5 =4 75<=>= L4D, 74<5F=> 

D4EE>4OFEO. �5<?O F4> <4?4 ?> ED46=5=<N E D4EEF>O=<5< 55 >F 

E>?=F4, GF> E>?=5G=O5 ?GG<, ?444NM<5 =4 >4>GN-?<5> G4EFL 

55 ?>65DE=>EF<, D4EE>4OFEO =4 =5G?>6<<> <4?O= G7>?: ?D4>-

F<G5E>< ?GG< MF< <>6=> EG<F4FL ?4D4??5?L=O<<. &>, GF> <O 

6<4<< <=>744 ?D< F4> =47O645<>< <774>5?4G=>< E<O=<<, 4 =5 

5>?55 >4> E?54EF6<5 ?5DE?5>F<6O. �  ?5DE?5>F<65 ?4D4??5?L-

=O5 ?<=<< ?D54EF46?ONFEO EE>4OM<<<EO; 6E?><=<F5 6<4 GE>-

4OM<E 644?L D5?LE>6 <?< 6<4 4?<==>= 4??5<. �4=4>> <7 F>7>, 

GF> ?GG< E>?=F4 ?444NF =4 75<?N ?4D4??5?L=O< ?GG>><, 6>6E5 

=5 E?54G5F, GF> ?>?=4O F5=L 4<D<645?O D46=4 ?> 4?<=5 E4<><G 

4<D<645?N. �77?O=G6 =4  D<EG=>>, 6O ?>=<5F5, GF> ?>?=4O F5=L 

4<D<645?O 6  ?D>EFD4=EF65 EG645FEO ?> =4?D46?5=<N >  75<?5 

<  GF>, E?54>64F5?L=>, F5=L, >F5D4EO645<4O << =4 75<=GN ?>-

65DE=>EFL, 4>?6=4 5OFL >>D>G5 E4<>7> 4<D<645?O: CD <5=LL5, 

G5< ��.
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$<E. $5L5=<O 7>?>6>?><>>. �<D<645?L

�E?< 7=4FL 6OE>FG 4<D<645?O, F> <>6=> 6OG<E?<FL < F>, >4> 

65?<>4 MF4 D47=<F4. �GEFL 4<D<645?L ?5F<F =4 6OE>F5 1000 < 

=44 75<=>= ?>65DE=>EFLN. '7>?, E>EF46?O5<O= ?DO<O<<  �% 

< �D <564G E>5>N, D465= F><G G7?G, ?>4 >>F>DO< GE<4FD<645FEO 

E>?=F5 E 75<?<; G7>? MF>F <765EF5=: >>>?> 1/2°. % 4DG7>= EF>D>=O, 

<765EF=>, GF> 6EO><= ?D54<5F, 6<4<<O= ?>4 G7?>< 6 1/2°, G44?5= 

>F 7?474 =4 115 E6><E ?>?5D5G=<>>6. �=4G<F, <75OF>> 4?<=O 4<-

D<645?O =44 4?<=>N F5=< (MF>F <75OF>> GE<4FD<645FEO E 75<-

=>= ?>65DE=>EF< ?>4 G7?>< 6  1/2°) 4>?65= E>EF46?OFL 115-N 

4>?N >F �%. �5?<G<=4 �% 5>?LL5 >F65E=>7> D4EEF>O=<O >F � 4> 

75<=>= ?>65DE=>EF<. �E?< G7>? <564G =4?D46?5=<5< E>?=5G-

=OE ?GG5= < 75<=>= ?>65DE=>EFLN D465= 45°, F> �% (?D< 6OE>F5 

4<D<645?O 1000 <) E>EF46?O5F >>>?> 1400 <, <, E?54>64F5?L=>, 

F5=L >>D>G5 4<D<645?O =4 1400 : 115 = 12 <.

�E5 E>474==>5 >F=>E<FEO > ?>?=>= F5=< 4<D<645?O 4 G5D=>= 

< D57>>= 4 < =5 <<55F >F=>L5=<O > F4> =47O645<>= ?>?GF5=<, 

E?45>= < D47<OF>=.

$4EG5F =4L ?>>47O645F, <564G ?D>G<<, GF>, 5G4L =4 <5EF5 4<-

D<645?O =55>?LL>= 6>74GL=O= L4D 4<4<5FD>< <5=LL5 12 <, >= 
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=5 >F5D4EO64? 5O 6>6E5 ?>?=>= F5=<; 6<4=4 5O?4 5O F>?L>> 57> 

E<GF=4O ?>?GF5=L.

9. �444GG D5L4NF E >>=F4. �G45< <EE>4<FL <7 F>7>, GF> ?>E?5 

6E5E ?5D5>?44O64=<= G<E?> E?<G5> 6 >GG>4E E45?4?>EL >4<=4>>-

6O<. &4> >4> >F MF<E ?5D5>?44O64=<= >5M55 G<E?> E?<G5> =5 <7-

<5=<?>EL, >EF4?>EL ?D56=55 (48), F> 6 >464>= >GG>5 > >>=FG 6E5E 

?5D5>?44O64=<= >>474?>EL 16 LFG>.

�F4>, <<55< 6 E4<>< >>=F5:

�5?>ED54EF65==> ?5D54 MF<< 6 1-N >GG>G 5O?> ?D<546?5=> 

EF>?L>> E?<G5>, E>>?L>> 6  =5= <<5?>EL; <=4G5 7>6>DO, G<E?> 

E?<G5> 6 =5= 5O?> G46>5=>. �=4G<F, 4> ?>E?54=57> ?5D5>?44O-

64=<O 6 1-= >GG>5 5O?> =5 16, 4 F>?L>> 8 E?<G5>. � >GG>5 65 3-=, 

<7 >>F>D>= 8 E?<G5> 5O?> 67OF>, <<5?>EL ?5D54 F5< 16 + 8 = 24 

E?<G><. &5?5DL G =4E F4>>5 D4E?D545?5=<5 E?<G5> ?> >GG>4<: 8, 

16, 24.

�4?55, <O 7=45<, GF> ?5D54 MF<< <7 2-= >GG>< 5O?> ?5D5?>65-

=> 6 3-N EF>?L>> E?<G5>, E>>?L>> <<5?>EL 6 3-= >GG>5. �=4G<F, 

24 4 MF> G46>5==>5 G<E?> E?<G5>, 5O6L<E 6 3-= >GG>5 4> MF>7> 

?5D5>?44O64=<O. �FEN44 G7=45< D4E?D545?5=<5 E?<G5> ?>E?5 

?5D6>7> ?5D5>?44O64=<O:

�57>> E>>5D47<FL, GF> D4=LL5 ?5D6>7> ?5D5>?44O64=<O (F. 5. 4> 

F>7>, >4> <7 1-= >GG>< ?5D5?>65=> 5O?> 6> 2-N EF>?L>> E?<G5>, 

E>>?L>> 6 MF>= 2-= <<5?>EL) D4E?D545?5=<5 E?<G5> 5O?> F4>>6>: 

22, 14, 12.

&4>>6O ?5D6>=4G4?L=O5 G<E?4 E?<G5> 6 >GG>4E.

10. -FG 7>?>6>?><>G F4>65 ?D>M5 D5L<FL E >>=F4. �O 7=45<, 

GF> ?>E?5 FD5FL57> G46>5=<O 6 >>L5?L>5 >>474?<EL 1 DG5. 20 >>?. 

(�5=L7< MF< ?>?GG<? EF4D<> 6 ?>E?54=<= D47.) %>>?L>> 65 5O?> 

4> MF>7> G46>5=<O? �>=5G=>, 60 >>?. �EF4?<EL MF< 60 >>?. ?>E?5 

G??4FO EF4D<>G 6F>DOE 1 DG5. 20  >>?., 4  4> G??4FO 5O?> 6  >>-

L5?L>5 1 DG5. 20 >>?. + 60 >>?. = 1 DG5. 80 >>?.

�4?55: 1 DG5. 80  >>?. >>474?<EL 6  >>L5?L>5 ?>E?5 6F>D>7> 

G46>5=<O; 4> F>7> 5O?> 6E57> 90  >>?., >EF46L<5EO ?>E?5 G??4-

FO EF4D<>G ?5D6OE 1 DG5. 20 >>?. �FEN44 G7=45<, GF> 4> G??4FO 

=4E>4<?<EL 6 >>L5?L>5 90 >>?. + 1 DG5. 20 >>?. = 2 DG5. 10 >>?. 

%F>?L>> 45=57 <<5?>EL 6  >>L5?L>5 ?>E?5 ?5D6>7> G46>5=<O; 

D4=LL5 65 5O?> 646>5 <5=LL5 4 1 DG5. 5 >>?. -F> < 5EFL F5 45=L-
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7<, E >>F>DO<< >D5EFLO=<= ?D<EFG?<? > E6><< =5G44G=O< D<-

=4=E>6O< >?5D4F<O<.

�D>65D<< >F65F:

�5=L7< 6 >>L5?L>5

�>E?5 1-7> G46>5=<O 1 DG5. 5 >>?. × 2 = 2 DG5. 10 >>?.

1-= G??4FO& 2 DG5. 10 >>?. 3 1 DG5. 20 >>?. = 90 >>?.

2-7> G46>5=<O& 90 >>?. × 2 = 1 DG5. 80 >>?.

2-= G??4FO& 1 DG5. 80 >>?. 3 1 DG5. 20 >>?. = 60 >>?.

3-7> G46>5=<O& 60 >>?. × 2 = 1 DG5. 20 >>?.

3-= G??4FO& 1 DG5. 20 >>?. 3 1 DG5. 20 >>?. = 0.

11. �4L >4?5=44DL 6545F E6>5 =4G4?> >F >4?5=44DO 4D56=<E 

D<<?O=. $<<?O=5 65 (4> .?<O &574DO) EG<F4?< =4G4?>< 7>44 =5 

1 O=64DO, 4 1 <4DF4. �5>45DL F>744 5O?, E?54>64F5?L=>, 45EOFO= 

<5EOF. % ?5D5=5E5=<5< =4G4?4 7>44 =4 1 O=64DO =4764=<O <5EO-

F56 <7<5=5=O =5 5O?<. �FEN44 < ?D><7>L?> F> =5E>>F65FEF6<5 

<564G =4764=<5< <  ?>DO4>>6O< =><5D><, >>F>D>5 EGM5EF6G5F 

F5?5DL 4?O DO44 <5EOF56.

12. �D>E?54<< 74 F5<, GF> ?D>45?4=> 5O?> E 744G<4==O< G<E-

?><. �D5645 6E57> > =5<G ?D<?<E4?< 67OF>5 FD5E7=4G=>5 G<E?> 

5M5 D47. -F> F> 65 E4<>5, GF> ?D<?<E4FL FD< =G?O < ?D<546<FL 

74F5< ?5D6>=4G4?L=>5 G<E?>; =4?D<<5D:

872 872 = 872 000 + 872.

&5?5DL OE=>, GF>, E>5EF65==>, ?D>45?4=> 5O?> E  G<E?><: 57> 

G65?<G<?< 6 1000 D47 <, >D><5 F>7>, ?D<546<?< 57> E4<>; >>D>G5 

E>474FL 4 G<=>6<?< G<E?> =4 1001.

'F> 65 E45?4=> 5O?> ?>F>< E MF<< ?D><76545=<5<? �7> D47-

45?<?< ?>E?54>64F5?L=> =4 7, =4 11 < =4 13. � >>=5G=>< EG5F5, 

7=4G<F, D4745?<?< 57> =4 7 × 11 × 13, F. 5. =4 1001.

�F4>, 744G<4==>5 G<E?> E=4G4?4 G<=>6<?< =4 1001, ?>F>< 

D4745?<?< =4 1001. �44> ?< G4<6?OFLEO, GF> 6 D57G?LF4F5 ?>?G-

G<?>EL F> 65 E4<>5 G<E?>?

�D5645 G5< 74>>=G<FL 7?46G > 7>?>6>?><>4E 6 4><5 >F4OE4, 

D4EE>46G 5M5 > FD5E 4D<D<5F<G5E><E D>>GE4E, >>F>DO<< 6O <>-

65F5 74=OFL 4>EG7 64L<E F>64D<M5=. �64 E>EF>OF 6 >F744O64=<< 

G<E5?, FD5F<= 4 6 >F744O64=<< 6?445?LF56 65M5=.
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-F> EF4DO5, 5OFL <>65F, 4465 <  <765EF=O5 64< D>>GEO, => 

5464 ?< 6E5 7=4NF, =4 G5< >=< >E=>64=O. � 557 7=4=<O F5>D5F<-

G5E>>= >E=>6O D>>GE4 =5?L7O E>7=4F5?L=> <  G65D5==> 57> 6O-

?>?=OFL. �5>E=>64=<5 ?5D6OE 46GE D>>GE>6 ?>FD55G5F >F =4E 

65EL<4 E>D><=>= < =<GGFL =5 GF><<F5?L=>= M>E>GDE<< 6 >5?4EFL 

=4G4?L=>= 4?755DO.

13. ��'�$��'&�/ &�$$�
�GEFL F>64D<M 64L 744G<45F >4>>5-=<5G4L <=>7>7=4G=>5 

G<E?>, =4?D<<5D 847. �D54?>6<F5 5<G =4=F< EG<<G F<DD MF>7> 

G<E?4 (8 + 4 + 7 = 19) < >F=OFL 55 >F 744G<4==>7> G<E?4. ' 74744-

G<>4 >>465FEO

847 3 19 = 828.

� F>< G<E?5, >>F>D>5 ?>?GG<FEO, ?GEFL >= 74G5D>=5F >4=G 

F<DDG 4 557D47?<G=> >4>GN 4 < E>>5M<F 64< 6E5 >EF4?L=O5. �O 

=5<54?5==> =47O645F5 5<G 74G5D>=GFGN F<DDG, E>FO =5 7=45F5 

744G<4==>7> G<E?4 < =5 6<45?<, GF> E =<< ?D>45?O64?>EL.

�4> <>65F5 6O MF> 6O?>?=<FL < 6 G5< D47744>4 D>>GE4? �O-

?>?=O5FEO MF> >G5=L ?D>EF>: ?>4OE><645FEO F4>4O F<DD4, >>-

F>D4O 6<5EF5 E  EG<<>N 64< E>>5M5==OE F<DD E>EF46<?4 5O 

5?<64=L55 G<E?>, 45?OM55EO =4 9 557 >EF4F>4. �E?<, =4?D<<5D, 

6 G<E?5 828 5O?4 74G5D>=GF4 ?5D64O F<DD4 (8) < 64< E>>5M5=O 

F<DDO 2 < 8, F>, E?>6<6 2 + 8, 6O E>>5D4645F5, GF> 4> 5?<64=-

L57> G<E?4, 45?OM57>EO =4 9, F. 5. 4> 18, =5 E64F45F 8. -F> < 5EFL 

74G5D>=GF4O F<DD4.

�>G5<G F4> ?>?GG45FEO? �>F><G GF> 5E?< >F >4>>7>-?<5> 

G<E?4 >F=OFL EG<<G 57> F<DD, F> 4>?6=> >EF4FLEO G<E?>, 45?O-

M55EO =4 9, 4 <=4G5 7>6>DO, F4>>5, EG<<4 F<DD >>F>D>7> 45?<FEO 

=4 9. � E4<>< 45?5, ?GEFL 6 744G<4==>< G<E?5 F<DD4 E>F5= 4 4, 

F<DD4 45EOF>>6 4 b < F<DD4 54<=<F 4 E. �=4G<F, 6E57> 6 MF>< 

G<E?5 E>45D6<FEO 54<=<F

1004 + 10b + E.

�F=<<45< >F MF>7> G<E?4 EG<<G 57> F<DD 4 + b + E.

�>?GG<<

100a + 10b + c 3 (a + b + c) = 99a + 9b = 9(11a + b).
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�> 9(114 + b), >>=5G=>, 45?<FEO =4 9; 7=4G<F, ?D< 6OG<F4=<< 

<7 G<E?4 EG<<O 57> F<DD 6E5744 4>?6=> ?>?GG<FLEO G<E?>, 45-

?OM55EO =4 9 557 >EF4F>4.

�D< 6O?>?=5=<< D>>GE4 <>65F E?GG<FLEO, GF> EG<<4 E>-

>5M5==OE 64< F<DD E4<4 45?<FEO =4 9 (=4?D<<5D, 4 < 5). -F> 

?>>47O645F, GF> 74G5D>=GF4O F<DD4 5EFL ?<5> 0, ?<5> 9. &4> 6O 

< 4>?6=O >F65F<FL: «0 <?< 9».

�>F 6<4><7<5=5=<5 F>7> 65 D>>GE4: 6<5EF> F>7> GF>5O <7 

744G<4==>7> G<E?4 6OG<F4FL EG<<G 57> F<DD, <>6=> 6OG5EFL 

G<E?>, ?>?GG5==>5 <7 44==>7> >4>>=-?<5> ?5D5EF4=>6>>= 57> 

F<DD. �4?D<<5D, <7 G<E?4 8247 <>6=> 6OG5EFL 2748 (5E?< ?>-

?GG45FEO G<E?> 5>?LL55 744G<4==>7>, F> 6OG<F4NF <5=LL55 <7 

5>?LL57>). �4?LL5 ?>EFG?4NF, >4> D4=LL5 E>474=>:

8247 3 2748 = 5499;

5E?< 74G5D>=GF4 F<DD4 4, F>, 7=4O F<DDO 5, 9, 9, 6O E>>5D4645-

F5, GF> 5?<64=L55 > 5 + 9 + 9, F. 5. 23, G<E?>, 45?OM55EO =4 9, 5EFL 

27. �=4G<F, 74G5D>=GF4O F<DD4 27 3 23 = 4.

13�. �&����&, '�%��, ��'��� �� %�$�,���/
�O ?D54?4745F5 F>64D<MG 744G<4FL FD5E7=4G=>5 G<E?>, =5 

>>4=G<64NM55EO =G?5<, F4>>5, 6  >>F>D>< >D4==<5 F<DDO D47-

=OFEO 5>?LL5 G5< =4 1, < ?D>E<F5 74F5< ?5D5EF46<FL F<DDO 6 >5-

D4F=>< ?>DO4>5. %45?46 MF>, >= 4>?65= 6OG5EFL <5=LL55 G<E?> 

<7 5>?LL57> < ?>?GG5==GN D47=>EFL E?>6<FL E =5N 65, => =4?<-

E4==>N 6 >5D4F=>= ?>E?54>64F5?L=>EF< F<DD. �<G57> =5 E?D4-

L<64O G  74744G<>4, 6O E>>5M45F5 5<G G<E?>, >>F>D>5 G  =57> 

?>?GG<?>EL 6 >>=5G=>< EG5F5.

�E?<, =4?D<<5D, 5O?> 744G<4=> 467, F> 74744G<> 4>?65= 6O-

?>?=OFL E?54GNM<5 45=EF6<O:

467; 764;
3

764

467
+

297

792 .

297 1089

-F>F >>>=G4F5?L=O= D57G?LF4F 4 1089 4 6O < >5NO6?O5F5 74-

744G<>G. �4> 6O <>65F5 57> G7=4FL?

$4EE<>FD<< 7444GG 6  >5M5< 6<45. �>7L<5< G<E?> E  F<DD4-

<< 4, b, E. �=> <7>5D47<FEO F4>:
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1004 + 10b + E.

'<E?> E >5D4F=O< D4E?>?>65=<5< <<55F 6<4:

100E + 10b + 4.

$47=>EFL <564G ?5D6O< < 6F>DO< D46=4:

994 3 99E.

�5?45< E?54GNM<5 ?D5>5D47>64=<O:

994 3 99E = 99 (4 3 E) = 100{4 3 E) 3 4 + E = 

= 100(4 3 E) 3 100 + 100 3 10 + 10 3 4 E = 

= 100 (4 3 E 3 1) + 90 + (10 3 4 + E).

�=4G<F, D47=>EFL E>EF><F <7 E?54GNM<E FD5E F<DD:

  F<DD4 E>F5=: 4 3 E 3 1,

   45EOF>>6: 9,

   54<=<F: 10 + E 3 4.

'<E?> E >5D4F=O< D4E?>?>65=<5< F<DD <7>5D4645FEO F4>:

100(10 + E 3 4) + 90 + (4 3 E 3 1).

%?>6<6 >54 6OD465=<O

100(4 3 E 3 1) + 90 + 10 + E 3 4 100(10 + E 3 4) + 90 + 4 3 E 3 1,

?>?GG45<

100 × 9 + 180 + 9 = 1089.

�4>>6O 5O =< 5O?< F<DDO  4, b, E, 6  <F>75 6O>?44>> 6E5744 

?>?GG45FEO >4=> <  F> 65 G<E?>: 1089. �5FDG4=> ?>MF><G >F74-

44FL D57G?LF4F MF<E 6OG<E?5=<=: 6O 7=4?< 57> 74D4=55. �>=OF=>, 

GF> ?>>47O64FL MF>F D>>GE >4=><G ?<FG 46464O =5?L7O 4 E5>D5F 

5G45F D4E>DOF.

14. �&� '&� ��/�?
�?O 6O?>?=5=<O MF>7> >EFD>G<=>7> D>>GE4 =5>5E>4<<> 

?>47>F>6<FL FD< >4><5-=<5G4L <5?><5 65M<FO, G4>5=> ?>-

<5M4NM<5EO 6  >4D<4=5, =4?D<<5D >4D4=44L, >?NG <  ?5D>-

G<==O= =>6<>. �D><5 F>7>, ?>EF46LF5 =4 EF>? F4D5?>G E 24 
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>D5E4<<; 74 =5<<5=<5< >D5E>6 7>4OFEO L4L><, >>EF< 4><<=>, 

E?<G>< < F. ?.

&D><< F>64D<M4< 6O ?D54?4745F5 6> 6D5<O 64L57> >FEGFEF6<O 

6  >><=4F5 E?DOF4FL 6  >4D<4= >4D4=44L, >?NG <?< =>6<>, >F> 

>4>GN 65ML E>G5F. �O 55D5F5EL >F7444FL, 6 GL5< >4D<4=5 >4>4O 

65ML.

�D>F54GD4 >F744O64=<O ?D>6>4<FEO F4>. �>76D4F<6L<EL 

6 >><=4FG ?>E?5 F>7>, >4> 65M< E?DOF4=O 6 >4D<4=4E F>64D<M5=, 

6O =4G<=45F5 E F>7>, GF> 6DGG45F5 << =4 E>ED4=5=<5 >D5E< <7 F4-

D5?><.

�5D6><G 445F5 >4<= >D5E, 6F>D><G  4 464, FD5FL5<G  4 FD<. 

�4F5< E=>64 G44?O5F5EL <7 >><=4FO, >EF46<6 F>64D<M4< E?54G-

NMGN <=EFDG>F<N. �464O= 4>?65= 67OFL E555 <7 F4D5?>< 5M5 

>D5E>6, 4 <<5==>: >5?444F5?L >4D4=44L4 55D5F EF>?L>> >D5E>6, 

E>>?L>> 5<G 5O?> 6DGG5=>; >5?444F5?L >?NG4 55D5F 646>5 5>?L-

L5 F>7> G<E?4 >D5E>6, >4>>5 5<G 5O?> 6DGG5=>; >5?444F5?L =>64 

55D5F 6G5F65D> 5>?LL5 F>7> G<E?4 >D5E>6, >4>>5 5<G 5O?> 6DG-

G5=>.

�D>G<5 >D5E< >EF4NFEO =4 F4D5?>5.

�>744 6E5 MF> ?D>45?4=> < 64< 44= E<7=4? 6>76D4F<FLEO, 6O, 

6E>4O 6 >><=4FG, 5D>E45F5 677?O4 =4 F4D5?>G < >5NO6?O5F5, G >>7> 

6 >4D<4=5 >4>4O 65ML.

$>>GE F5< 5>?55 >7444G<645F, GF> 6O?>?=O5FEO 557 GG4EF<O 

F4==>7> E>>5M=<>4, ?>44NM57> 64< =574<5F=O5 E<7=4?O. � =5< 

=5F =<>4>>7> >5<4=4: >= F5?<>>< >E=>64= =4 4D<D<5F<G5E>>< 

D4EG5F5. �O D47OE><645F5 >5?444F5?O >464>= 65M< 54<=EF65==> 

?<LL ?> G<E?G >EF46L<EEO >D5E>6. �EF45FEO <E =4 F4D5?>5 =5-

<=>7> 4 >F 1 4> 7, < EG5EFL <E <>6=> >4=<< 677?O4><.

�4> 65, >4=4>>, G7=4FL ?> >EF4F>G >D5E>6, >F> 67O? >4>GN 

65ML?

�G5=L ?D>EF>: >464><G E?GG4N D4E?D545?5=<O 65M5= <564G 

F>64D<M4<< >F65G45F <=>5 G<E?> >EF4NM<EEO >D5E>6. �O E5=-

G4E 6 MF>< G554<<EO.

�GEFL <<5=4 64L<E F>64D<M5= �?44<<<D, �5>D7<=, �>=EF4=-

F<=; >5>7=4G<< <E =4G4?L=O<< 5G>64<<: �, �, �. �5M< F4>65 

>5>7=4G<< 5G>64<<: >4D4=44L  4 4, >?NG  4 b,  =>6  4 E.  �4> 

<>7GF FD< 65M< D4E?D545?<FLEO <564G FD5<O >5?444F5?O<<? 

�4 6 ?44>6:
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12

� � �

a

a

b

b

c

E

b

c

a

c

a

b

c

b

c

a

b

a

�DG7<E E?GG456, >G56<4=>, 5OFL =5 <>65F; =4L4 F45?<G>4 E<-

EF5<4F<G5E>< <EG5D?O645F 6E5 >><5<=4F<<.

�>E<>FD<< F5?5DL, >4><5 >EF4F>< >F65G4NF >464><G <7 MF<E 

6 E?GG456:

��� '<E?> 67OFOE >D5E>6 �F>7> �EF4F>>

abc

acb

bac

bca

cab

Eba

1 + 1 = 2; 2 + 4 = 6; 3 + 12 = 15

1 + 1 = 2; 2 + 8 =10; 3 + 6 = 9

1 + 2 = 3; 2 + 2 = 4; 3 + 12 = 15

1 + 2 = 3; 2 + 8 = 10; 3 + 3 = 6

1 + 4 = 5; 2 + 2 = 4; 3 + 6 = 9

1 + 4 = 5; 2 + 4 = 6; 3 + 3 = 6

23

21

22

19

18

17

1

3

2

5

6

7

�O 6<4<F5, GF> >EF4F>> >D5E>6 6EO><= D47 ?>?GG45FEO <=>=. 

�>MF><G, 7=4O >EF4F>>, 6O ?57>> GEF4=46?<645F5, >4>>6> D4E?D5-

45?5=<5 65M5= <564G 64L<<< F>64D<M4<<. �O E=>64 4 6 FD5F<= 

D47 4 G44?O5F5EL <7 >><=4FO < 747?O4O645F5 F4< 6 E6>N 74?<E-

=GN >=<6>G, 745 74?<E4=4 E5=G4E 6>E?D><76545==4O F45?<G>4 

(E>5EF65==>, =G6=O 64< F>?L>> ?5D64O < ?>E?54=OO 7D4DO); 74-

?><=<FL 55 =4<7GEFL FDG4=>, 44 < =5F =44>5=>EF<. &45?<G>4 E>4-

65F 64<, 6 GL5< >4D<4=5 >4>4O 65ML. �E?<, =4?D<<5D, =4 F4D5?>5 

>EF4?>EL 5 >D5E>6, F> MF> >7=4G45F (E?GG4= b, E, 4), GF> 

>?NG 4 G �?44<<<D4;

=>6 4 G �5>D7<O;

>4D4=44L 4 G �>=EF4=F<=4.

'F>5O D>>GE G44?EO, 6O 4>?6=O F65D4> ?><=<FL, E>>?L>> 

>D5E>6 6O 44?< >464><G F>64D<MG (D474464=F5 >D5E< ?>MF><G 

6E5744 ?> 4?D46<FG, >4> < 5O?> E45?4=> 6 =4L5< E?GG45).
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15. &��, �� 28 ��%&��
�>G5<G 28 >>EF5= 4><<=> <>6=> 6O?>6<FL E  E>5?N45=<5< 

?D46<? <7DO 6 >4=G =5?D5DO6=GN F5?L?

16. ��'��� � ����& &���
�>744 28 >>EF5= 4><<=> 6O?>65=O 6 F5?L, =4 >4=>< 55 >>=F5 

>>474?>EL 5 >G>>6.

%>>?L>> >G>>6 =4 4DG7>< >>=F5?

17. $��'% % ������
�4L F>64D<M 55D5F >4=G <7 >>EF5= 4><<=> < ?D54?4745F 64< 

<7 >EF4?L=OE 27 E>EF46<FL =5?D5DO6=GN F5?L, GF65D644O, GF> 

MF> 6E5744 6>7<>6=>, >4>4O 5O >>EFL =< 5O?4 67OF4. %4< 65 >= 

G44?O5FEO 6 E>E54=NN >><=4FG, GF>5O =5 6<45FL 64L5= F5?<.

�O ?D<EFG?45F5 >  D45>F5 <  G556445F5EL, GF> F>64D<M 

64L  ?D46: 27 >>EF5= 6O?>6<?<EL 6  >4=G F5?L. �M5 G4<6<-

F5?L=55 F>, GF> F>64D<M, >EF464OEL 6  E>E54=5= >><=4F5 <  =5 

6<4O  64L5= F5?<, >5NO6?O5F >FFG44, >4><5 G<E?4 >G>>6 =4 55 

>>=F4E.

�4> <>65F >= MF> 7=4FL? � ?>G5<G >= G65D5=, GF> <7 6EO><E 27 

>>EF5= 4><<=> E>EF46<FEO =5?D5DO6=4O F5?L?

18. $����
$<EG=>> <7>5D4645F >644D4F=GN D4<>G, 6O?>65==GN <7 

>>EF5= 4><<=> E  E>5?N45=<5< ?D46<? <7DO. %F>D>=O D4<>< 

D46=O ?> 4?<=5, => =5 >4<=4>>6O ?> EG<<5 >G>>6: 65DE=<= 

< ?56O= DO4O 74>?NG4NF ?> 44 >G>4, >EF4?L=O5 65 464 DO44 4 

59 < 32.
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$<E. $5L5=<5 19

�>65F5 ?< 6O 6O?>6<FL F4>GN >644D4F=GN D4<>G, 6E5 EF>-

D>=O >>F>D>= 74>?NG4?< 5O >4<=4>>6GN EG<<G >G>>6 4 <<5=-

=> 44?

19. %��, ����$�&��
'5FOD5 >>EF< 4><<=> <>6=> 6O5D4FL F4>, GF>5O <7 =<E E>EF4-

6<?EO >644D4F<> E D46=>= EG<<>= >G>>6 =4 >464>= EF>D>=5. �5-

D47G<> 6O 6<4<F5 =4 D<EG=>5: E?>6<6 >G>< =4 >464>= EF>D>=5 

>644D4F<>4, 6> 6E5E E?GG4OE ?>?GG<F5 11.

$<E. C5<L >644D4F>6 (=<6=<= D<EG=>>)


